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2.d = 2470 m

3. (a) x = 563 m

(b) a = 757 m/s® /82.4°

()t =235 s

(d) vea = 109 m/s [/73.4°
4. (@) T=981N, F=0

b) va+2ve =0

() T =589 N

(d) ar = 392 m/s* |, ap = 197 m/s”* 1
5 (@ v: =0, vo =6 m/s

ar = -120 m/s>, as = 0

Mb)a =0 a =0
(¢) ¥ = 120 m/s’
(d) v =18 m/s
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(a) B3 (conservative force)o] & F-ololn, wHeA
st=(potential function)2}2] #A= Folel7}1?
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ma = bkg, mp = 4kg, m¢ = 3kgoli, AFH A7
FA OxyzollAl 9AMEHE mad$lE ra = 5 + 4k,
rg = 4i + 4j + 3k, rc =8 + 6 otk

(@) o] AHA ] AdFTAH AANH rcE T3t
(b) 72+ Ao £ m/sTHHE va = 21 + 3 -2k,
Ve = vd + 2§ + vk, ve = 31 - 2] + k9 42
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2. Xmax = 0.152 m
3. (a) © = 12.8°
(b) mp = 4 kg
(c) e =08
(d) Ty - T2 = 0.06 J
4. (a) ¢ = 3331 +492j + 267 k (m)
(b) v, = 725 m/s, vx = 833 m/s
(c) Ho = 6281 - 184 j - 330 k (kg - m’/s)
5. (a) v’ = 0571 m/s —
(b) h = 0.146 m
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1. Iz = ML?
2.(a) T =981 N
() a = 49.1 rad/s* )
(©) @cora = 196 m/s” 1
3. (a) a = 9.81 rad/s® ¢
(b) Ay =245 m
4. (a) a = 9.38 rad/s® €
(h) Fy = 25N, F, = 196 N
5.
6. (a) v = 047 m/s NA41.6°
(b) ap = 0.0406 m/s® /63.7°
7. (@) vp = 090 m/s 1
(b) ope = 4.0 rad/s (, wpp = 1.50 rad/s )
(c) ape = 6.00 rad/s” ¢



